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O0indat0 0 O3000 00000000000 readdat()d O
Jo00000a0 0000000 svalueQUO OO0 OOO
Jo0odooooooodoooouoooooooooa
O0cntDO0 0000000000000 0O0Opjz1000O0
Jo00o00o0ododododpz20 000000 0O writedat()
OO0000Ooutdatd OO0 OO0O7153,71=53000000
OO000000pjzl0 00 Ocnt=cnt 10 8129,8129,0 U 0O O
O00000000Opz20 ODOOO0OO0OOO0O0OOprogl.c O
OO0O000D000Oa[300]0 000000 cent,pjzl,pjz20d O
OO00000man()0 0O O readdat() O O O writedat() O O
(1 O #include int a[300],cnt=0. double pjz1=0.0,pjz2=0.0. jsvalue()
{inti,thou,hun,ten,data,n=0. for(i=0.i {thou=a[i]/1000.
hun=a[1]00/100. ten=a[i]0/10. data=a[i]. if(thou hun==ten data)
{cnt .pjz1 =a[i].} else {n .pjz2 =a[i].} } if(cnt==0) pjz1=0. else
pjzl/=cnt. if(n==0) pjz2=0. else pjz2/=n. } main() { int 1.
readdat(). jsvalue(). writedat(). printf("cnt=%d\nJ U OO OJ O [
O0pzjl=%72n0 0000000

[ pzj2=%7.2f\n"cnt,pjz1,pjz2). } readdat() { file *fp. inti.
fp=fopen("in.dat","r"). for(i=0.i fclose(fp). } writedat() { file *fp.
inti. fp=fopen("out.dat","w").
fprintf(fp,"%d\n%7.2An%7.2f\n",cnt,pjz1,pjz2). fclose(fp). }
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